
SAP ABAP table ANLK {Asset Origin by Cost Element}

ANLK

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]

GJAHR [NUMC (4)]

OBART [CHAR (2)]

OBJID [CHAR (20)]

KSTAR [CHAR (10)]

USPOB [CHAR (22)]

HRKFT [CHAR (14)]

ANLA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]
 ANLK-ANLN2 = ANLA-ANLN2 0..N

1

ANLH

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]
 ANLK-ANLN1 = ANLH-ANLN1 0..N

1

CSKA

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KSTAR [CHAR (10)]

 ANLK-KSTAR = CSKA-KSTAR 
0..N1

T000

MANDT [CLNT (3)]

 ANLK-MANDT = T000-MANDT 

0..N

1

T093C

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 ANLK-BUKRS = T093C-BUKRS 

0..N

1


